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(h) Explain why thére is ' no supply curve ' 2022
under monopoly. Explain the case
of dumping in international price

discrimination. 5+5=10 ECONOMICS
G EEe @H @ [ IR AR,

0 9| e IwEe W Reene Paper : ECO-HC-4016
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( Intermediate Microeconomics—II )

() Describe how a monopolist  will

discriminate the price in the markets ( Honours Core )

with different elasticities of demand

and attain equilibrium. 10 : Full Marks : 80
@tﬁam&m&%awwwﬁwwﬁ | : Time : 3 hours

GFODI WIS (@S S e A,

A 390 The figures in the margin indicate full marks

for the questions

() Compare and contrast Bertrand

and Stackelberg’s equilibrium under 1. Answer the following questions (any ten) :
oligopoly. 10 i - 1x10=10
' G PPTRI U8 I :

RGO RS INGe TE BRI ( )
ASEMIRISRCE IR {123 (TY&Al | v _ (@) What is social indifference curve?

e fReer® @9 2

* % K :
(b) Define property rights.
Fife SRS e foat |

() What is monopoly power?

oA IEeE M [ 2
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(2) (3)

(d) What is product differentiation?
A Reensad e i g 2

() Define cartels.
TeoAT FRES AR i |

(e) Define saddle point. (m) What is exclusivity?

il 3% e & gom 2

(77 Wilat 15 payoll matFiae (n) Write one difference between private

sAfen (e 2 goods and public goods.
‘(g In what type of market we get Jfeore T A< R T TS L1 N
asymmetric information? ferar 1
@ R TS PR ekl iR Coe | (o) State Bertrand’s model of oligopoly.
9 :
i : ARG TARCFOR TS OFLD! T& 41 |
(h) Give an example of positive externality.
¢ fs e ATerR Trgad A | 2. Answer the following questions (any five) :
2x5=10
() What is first-degree price oo 2R s ot (R et *ftoor) :
discrimination? 1 '
(a) Define Pareto efficiency.
sies WA w4 e e fo gom 2

o5’ @I IRl it |

() What is the basic difference between
oligopoly and duopoly?
RGO IJGE HE AEPR [GRE AT

‘ ;
il (c) How does concentration ratio determine
degree of monopoly power?

@R SIS GRHbal I e T
@ R $ 2

22A/1119 ( Turn Over )

() Write two features of public goods.
qrergdl B9 Yo1 GRS fer |

(k) What is shutdown point?
woRE iy 6 2
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(@)

(e)

(9)

(h)

{84

What is ‘two-pefson zero-sum’ game?
RIS -1 ({2

What is meant by signaling in
a market?

WﬂWiﬁﬁﬁ?‘W?

Distinguish between
efficiency and exchange efficiency.

Teoive el Wie RN wwer o o1y
forar |

What are minimax and maximin
strategies?

‘N o ‘R’ e &5 2

What is
discrimination?

third-degree price

PO TR w1 R 2

3. Answer the following questions (any foun :

R RPRRS TS oIt (R et wifR6t)

(@)

22A/1119

5x4=20

Explain how efficiency can be achieved
in exchange through Edgeworth box
diagram.

GRS IRy o w1 R el crcagce
*f1F #MS, I

( Continued )

production

(b)

()

(@)

(e)

(9

22A/1119

(5)

Briefly explain the causes of market
failure.

TE RO FAPHR ST I 4 |

Explain the concept of excess capacity
under monopolistic competition.
GPIRFR IGRe SR SifeRE  wEeN
(IFENCH! 10T 47 |

When is price discrimination possible
and profitable? Explain.

W Restiesd @R o7 WIS oo 2 2
AT F401 :

Explain the concept of Prisoner’s
Dilemma.

FRITTR BY QRO 0 410 |

Distinguish between perceived and
proportionate demand with the help
of a diagram.

fouq 7@ SRFRERe Wi mﬁﬁ RIEGE]
YIREITCHT I 4T |

Explain how the growth of monopoly
power can lead to market failure.
GFee5ar IS T e I [weor
A8 I, IRH T
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(6)

~(h) Do you think monopolist always
earns supernormal profit? Justify
your answer.

GO IWRT Rewoz MR SFeRe e
& FCACA 7 (OIS eI I |

4. Answer the following questions (any four) :
10x4=40
OoR PR Ted ot (R et wifst) -

(@) What is production-possibility frontier
(PPF)? How can resources be allocated
efficiently through PPF? State Pareto’s
third condition for optimality. 2+6+2=10

Teoqma eIl @3t (1. 1. @) 592 Teome,
FoIRel @IE TS AT [Reqd @
TFO FRT MR GBI WS Y9I
PO HECH! ferat |

(b) State and explain Coase’s theorem.
What are the limitations of Coase’s
theorem? 6+4=10

6T OGOl JE TF FRI 9| GB 4{IR

ShrerTez & 52

(¢ How can monopoly power be controlled
and regulated? Explain. 10

GO ITRI M (@R faE o 2Rie
R 1R 2 WM 90|
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(@)

(e)

(9)

22A/1119

(7)

Explain how prices and output can
be determined under monopolistic
competition in the short run and
long run.

GFIRFIT TERC W@ HF T TS E
RPIeTS @ e FR 7, I 90 |

Explain diagrammatically Cournot’s
model of duopoly equilibrium.

%59 GeeI el ST ST Iy 41 |

Write two applications of game theory.
Explain the method of solving
a two-person zero-sum game. What are

the limitations of game theory?  2+6+2=10

45 ©EF oI e o1 @b RIS -
@ (I (IS AN PRI AR, IR
90 | (o1 OGS IR Sead 491 |

What is information asymmetry? How
does information asymmetry affect
business? Give two examples of
markets where information asymmetry

prevails. 2+6+2=10

PR SpTel 67 PN SPEfeR IWE©
R dOR R ? O AN SPERS 2
qe9q Swrzaet foa |
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